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11. Salary is only one part of a compensation package; you also need to consider
other benefits like healthcare, retirement contributions, and paid leave. The
statement above logically conveys which of the following?

(&) The factors that you should consider while looking for a good salary job with good
compensation package are number of paid leaves and health benefits such as
healthcare and retirement

(B) You also need to consider benefits like healthcare, retirement contributions, and
paid leave while looking a good salary

(C) While looking out for compensation package look out for good salary

(D) You should look for good compensation package before accepting the job

(E) Do not accept the job if the company cannot provide a good compensation package
to you.

12. Time management does not necessarily mean that you should do more work in
less time; rather it means how much of the important work you get done in the
time that you have. The argnment above would be weakened if it were true that

(A) Time management means that you should always complete more work in less time

(B) Time management means how much of important work you can complete in less

time

(C) You should do the work with higher priority first

(D) Instead of doing any kind of work you should first try to complete the important

tasks

(B) List down the work according to its priority and then begin with their completion

9, BAARADAMHFTRAT 'BALZRUATUMAIAZARES

*¥FARBEEEL (F) AHL

13. Because of the high costs of the metal silver it has not been replaced for the use
of copper in the manufacturing of the electric wires. From which of the
following can the statement above be most properly inferred?

(A) Copper wires are very cheap and cost-efficient compared to the silver wires

(B) Because copper metal is very cheap than the metal silver, the electric wires are

made using copper instead of silver

(C) Though silver has better conductor of electricity than copper, but because it is more

expensive than copper, it is not used in the making of electric wires

(D) Because of the high costs of the metal silver it has not been replaced for the use

copper

(E) Copper is used for making electric wires as it is not only cheap but a very good -

conductor of electricity.

14. Stock analyst: '""We believe Company A's stock will appreciate at 35% a year
for the next 5 to 7 years. Company A just became the leader in its industry and
we expect its sales to grow at 8% a year." Which of the following, if true, would
best support the stock analyst's prediction?

(A) The company's expenses will be declining over the next 5 to 10 years.

(B) The company just wen a patent on a new éroduct.

(C) Company A's stock is currently overvalued by a significant amount.

(D) The 5 to 7 year time frame is too long for anyone to accurately forecast.

(E) Company A's industry peer group is expected to experience stock appreciation rates

of 30% over the same time.

15. Bill: Many of the productions of my songs played by amateur singers are
poorly done, and such interpretations do not provide a true measure of my
skills as a compositor. Which of the following can be properly inferred from
Bill’s staternent?

(A) Some amateur singers’ productions of Bill’s songs provide a true measure of his

skills as a dramatist.

(B) All amateur singers” productions of Bill’s songs that are not poorly done provide a

true measure of his skills as a dramatist.

(C) All of the productions of Bill’s songs played by amateur singers that do not provide

a true measure of his skills as a dramatist are poorly done.

(D) If a production of a compositor’s songs is well done, then it provides a true

measure of his or her skills as a compositor.

(E) At least some amateur singers’ productions of Bill’s songs fail to provide a true

measure of his skills as a dramatist.

16. Some researchers have proposed that though the content of anti-oxidants in
the whole grapes is same as that of grape juice and red wine, they provide the
bedy with additional dietary fiber. From which of the following statement can
be the mest properly inferred from above?

{(A) The whole grapes deliver the same amount of antioxidants that are in grape juice

and wine

(B) Consumption of whole grapes has the added benefit of providing the body with

dietary fiber

(C) You should always prefer whole grapes over grape juice and red wine because

whole grapes not only provide with the same amount of anti-oxidants just as the
red wine and the grape juice does, but also provide us with dietary fiber.

(D) Unlike the whole grapes, red wine and grape juice cannot provide the dietary fiber.

(E) The whole grapes are more superior than red wine and grape juice because of the

additional dietary fiber that it provides to the body

17. The longest living organisms on the Earth that also form a part of the Earth’s
greatest natural resource are the trees. The statement above logically conveys
which of the following?

(A) Trees are the longest living organisms on the planet earth

(B) Trees are the only earth's greatest natural resources that are still alive

(C) Trees are not only one of the biggest natural resources on the Earth but they are

also the longest living thing on the Eaith

(D) Trees not only live long but can also used as natural resource

(E) Trees do not die easily and hence they are existing on the earth since a very long

interval

18. Although the caffeine contents of the coffee help you in fighting laziness, it
increases the acidity in your body and leaves you with a very bad breath. Which
of the following, if true, most seriously jeopardizes the validity of the above
argument?

(A) Coffee gives you bad breath because it increases the acidity in your body and the

caffeine helps you fight laziness but leaves a bad smell in your mouth

(B) The caffeine contents of the coffee do not help you in fighting laziness

(C) Drink coffee whenever you feel lazy

(D) Having a cup of coffee can leave a very bad smell in your mouth

(E) Coffee increases the acidity in your body and leaves you with a very bad breath

19. Computer scientists focused increasingly on starting and running successful
businesses. However, since businesses must be profitable, those scientists must
focus on developing products that generate profit. Consequently, computer
science has lost its creative aspect. Which of the following assumptions is most
necessary in order for the conclusion above to be drawn from the argument

above?
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(A) All computer programs must lack creativity in order to be well deliverd.

(B) Some computer scientists entirely disregarded creativity and chose instead to
pursue profit.

(C) A program cannot be both creative and profitable.

(D) Computer scientists are obsessed with the profitability of their programs.

(E) Non-profit organizations use large amounts of software.

20. Two farmers, who never left their farms in their whole lives, were looking at
their dogs and observed that all their border collies were black and white. The
border collies were the only things that the farmers ever saw as a mix of black
and white. Farmer Adam luckily but correctly observed that if something is a
border collie then it must be black and white. Farmer John remarked that if
something is not black and white, then it is not a border collie. The argument
is flawed primarily because Farmer John:

(A) Fails to realize that there are other dog breeds apart from border collies

(B) Fails to realize that being black and white is a necessary but insufficient condition

to be called a border collie :

(C) Lacks sufficient information on which to base the condition for being a border

collie . '

(D) Only observes one type of phenomenon — border collies and their color

(E) Demonstrates only limited knowledge about the world outside

21. Increasingly, customer service phone lines of many companies have been
utilizing overseas companies that can provide these services at extremely
reduced rates. Toll-free calls are routed to countries like China, India, where
low-paid workers have been trained to deal with most of the typical problems
consumers may encounter. Since the companies using these overseas call
centers are saving so much money, they will undoubtedly show higher profits
than companies that do not. Which of the following, if true, most seriously
weakens the argument?

(A) There is strong competition among overseas call centers to provide the most

~ comprehensive services at the lowest rates. : :

(B) Consumers opposed to those exporting jobs are willing to pay more for goods and

services from companies that don’t engage in this practice.

(C) Certain banking services cannot be outsourced, since this would require the release

of customer financial data. .

(D) Because offshore telephone customer service companies provide only these

services, they can train their employees more thoroughly than other firms could.

(E) Some American companies send their own employees overseas to train the call

center personnel in their particular business.

22. Tom works five days each week except when on vacation or during weeks in
which national holidays occur. Four days a week he works in an insurance
company; on Fridays he works as a blacksmith. He does not have any other
jobs. Last week there were no holidays and John was not on vacation. Therefore,
he must have worked in the insurance company on Monday, Tuesday,

- Wednesday, and Thursday last week. Which of the following is an assumption
upon which the argument depends? Co

(A) Tom never takes a vacation lasting longer than one week.

(B) Every day last week that John worked, he worked for an entire workday.

(C) Tom does not take vacations in weeks in which national holidays occur.

(D) Last week Tom worked neither on Saturday nor on Sunday.

(E) There were no days last week on which Tom both worked in the insurance

company and also worked as a blacksmith.

23. In a typical year, most visitors to Taipei 101 are not residents of Taipei. But
- most of the visitors are residents of the Taiwan. If the above statements are both
true, it must be true that:
(A) Most residents of the Taiwan are not residents of Taipei.
(B) Some residents of Taipei are not visitors to Taipei 101,
(C) Most residents of Taipei are residents of Taiwan
(D) Some residents of the Taiwan are not residents of Taipei
(E) Some residents of Taiwan are not visitors to Taipei 101.

24. A newly LED light bulb is much more cost-effective than conventional light
bulbs and cests only about 4 times what a conventional light bulb costs but
lasts up to 10 times as long as a conventional light bulb. The LED bulb's
manufacturer has embarked upon an ambitious campaign to advertise the bulb
as both inexpensive and environmentally friendly. Despite these intense efforts
to publicize the advantages of the new bulb, these new bulbs will sell very
poorly. Each of the following, if true, provides support for the analyst's

- prediction EXCEPT:
(A) The light generated by the new bulb is in the yellow range of the spectrum, a type
of artificial light most people find unappealing. .

(B) Most people who purchase light bulbs prefer to buy inexpensive light bulbs rather

than more durable but expensive light bulbs.

(C) A manufacturer of one brand of conventional light bulb has advertised claims that

the new light bulb uses more electricity than do conventional light bulbs.

(D) The new bulb is to be marketed in several different quantities, ranging from

packages containing one bulb to packages containing four bulbs.

(E) A competing manufacturer is going to introduce a light bulb that lasts 10 times as

long as a conventional bulb but costs less than a conventional bulb.
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25. The Dean claimed that, as a result of continued cutbacks in the budget for
pure science research, fewer students are choosing a career in mathematics, and
therefore the number of postgraduate students studying mathematics is likely to
decline. Which of the following, if true, casts most doubt on the Dean’s
conclusion?

(A) The number of students majoring in mathematics at the undergraduate level has

been increasing steadily over the years, a trend that is expected to continue.

(B) The number of students studying chemistry declined even before cutbacks in

research funding were noted.

(C) Most postgraduate students of mathematics move to careers in computer science

and engineering.

(D) The Dean’s own university has recently increased the number of staff members

teaching physics. _

(E) The budget cutbacks are less severe for the pure sciences than for applied sciences.

26. Photography is no longer an art form. Today, everyone has access to digital
cameras that only need to be pointed at the subject in order to generate a
perfect image. The writer of the argument apparently assumes that

(A) The selection of the subject is not an important artistic factor in photography.

(B) Digital cameras will continue to improve in quality

(C) Digital cameras can never go wrong

(D) Photography with all other types of media is an art form.

(E) Art is not perfect

27. Company A buys free-travel coupons from people who are awarded the
coupons by B Airlines for flying frequently on B’s airplanes. The coupons are
sold to people who pay less for the coupons than they would pay by purchasing
tickets from B. This making of coupons results in lost revenue for Brave. To _
discourage the buying and selling of free-travel coupons, it wonld be best for B
Airlines to restrict the

(A) Number of coupons that a person can be awarded in a particular year

(B) Use of the coupons to those who were awarded the coupons and members of their

immediate families ,

(C) Days that the coupons can be uséd to Monday through Friday

(D) Amount of time that the coupons can be used after they are issued

(E) Number of routes on which travelers can use the coupons

28. SS aspirin claims to be the best headache relief available on the market today.
To prove this claim, SS called 10 people and asked them their thoughts on
headache relief products. All 10 of them stated that they unequivocally use SS
brand aspirin on a regular basis and that they believe it to be the best headache
relief available on the market today. Which of the following would most weaken
this argument?

(A) S8 brand aspirin is highly addictive.

(B) The 10 people called were spouses of SS employees.

(C) Most people choose to suffer silently through their headaches and take no

medicines whatsoever. .

(D) The 10 people called own stock in a competing company.

(E) The 10 people were selected at random.

29. An addictive television viewer is statistically more likely to take sleeping pills
at bedtime than a person who enjoys listening to classical music and does not
watch television as a habit. Clearly, listening to classical music just before
bedtime contributes to a more restful night’s sleep, whereas watching television
before bedtime has the opposite effect. Which of the following, if true, most
seriously weakens the above argument?

(A) Reading a book before bedtime contributes to restful sleep more than listening to

music does.

(B) People who enjoy classical music typically like to read just before bedtime.

(C) Sleeplessness is more common among people who watch late-night television than

among people who do not.

(D) Engaging in a bedtime activity that is mentally stimulating often interferes with a

person’s ability to fall asleep.

(E) A silent environment is less conducive to restful sleep than an environment with

calming ambient sounds.

30. The cost of producing smartphenes in Country A is ten percent less than the
cost of producing those in Country Y. Even after transportation fees and tariff
charges are added, it is still cheaper for a company to import radios from
Country A to Country Y than to produce radios in Country Y.
The statements above, if true, best support which of the following assertions?
(A) Labor costs in Country A have 10% below those in Country Y.
(B) Importing smartphones from Country A to Country Y will eliminate 10%
of the manufacturing jobs in Country Y.

(C) The tariff on a smartphone imported from Country A to Country Y is less
than 10% of the cost of manufacturing the smartphone in Country Y.

(D) The fee for transporting a smartphone from Country A to Country Y is
more than 10% of the cost of manufacturing the radic in Country Q.

() It takes10% less time to manufacture a radio in Country A than it does in
Country Y.
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